2017 (A) @ U/ A

SSC PART- (9th CLASS)

+

¢

PHYSICS (NEW SCHEME) GROUP-I  ( 2015-2017 o) -l (F ) UG
TIME ALOWED: 1.45 Hours SUBJECTIVE SEiLe 245 =
MAXIMUM MARKS: 48 48 = AF
NOTE: - Write same guestion number _q.ﬁ-,«;:ufq..{.glfﬁg,{ &u:j:‘iiﬂ;:b‘.”dirﬁ:{gébﬁlz -
and its part number on answer book, as given in the question paper.
SECTION-| Jil.e
2. Attempt any five parts. 10=2x5 -é}fmwj;i:r:l@k:..jf 2/
(i) Defire Nuclear Physics and Geophysics, PSS s A (i)
(i) What Is meant by Physical Quantities? Give an example. -:;...Jvt" Tl LA s .e.rJ’J’ iy
(i) What is meant by Unit? Yo spde iy (i)
{iv)  Define Uniform Velocity. E Ay (V)
(v}  What is meant by Uniform Speed? T.;.;y{:..};pu;; v
(vi)  Define Acceleration and write its unit. " _d“:s;ﬁ'@;u‘.;.f,&gﬁfﬁ,ﬂl (vi)
{vii)  Define Weight and write its unit, e s ASun il
(vili)  What is meant by Friction? s PF (i)
3. Attempt any five parts, 10=2x5 .é;fubixﬂi?l@:.df 30y
{il Differenliate between Like and Unlike Parallel Forces. -~ LA ,w.,, N (i)
{ii) What is meant by the Axis of Rotation of a Body? ‘-:;_slfls';_p ,;_.5 /glf_lﬂ’? \;’f (i}
(i)  Define Unstable Ecuilibrium. LA B i)
(iv)  What is meant by Gravitational Forge? e i e w'}ﬁt.‘;i)‘ (i)
(v}  What is Global Positioning System? ?.g_bxk:"#*‘“ ..fﬂ-‘-‘f.;'{l__ﬁ:f (v}
(Vi)  Why does the valus of "g" vary from place to place? e dnud Ui v (i)
(vii)  Define Work, What is its S unit? Sefew SIM . AL (i
(vii)  What is meant by the Efficiency of a System? teber e GRS i
4, Attempt any five parts. 10=2x5 .éffulifﬁl}’@&:.af ..d/Ulr
(i)  WWrite some importan: features of Kinetic Molecular Modei of Matter. &ty bo?Ulite dUs 8l G036 ol (i)
(i} Define Pressure and write its unit. o _dj_-:_'#;,.r l.rslg ! f;_, el (i
(ily  State Hooke's Law P S (1)
(iv)  Differentiate between Heat and Temperature. _ _EJJ ALk /;tul.:nl.? (iv)
(v)  What is meant by Latent Heat of Fusion? te e etr B W)
(viy  What is meant by Land Breeze? ‘-'_LJLFHLJ::FI L)
(viiy Define Conduction -é = ;J'vff & i)
{viiij Metals are Good Conductor of Heat. Why? S -.._,:.-“Jﬂ f'}:rﬁfufm;ff:‘e' {vilf)

NOTE: - Attempt any two questions.

SuA)

(8)

B.(A)

(B)

T.(A)
(B)

SECTION-II e

State and explain Newtons Second Law of Motion 4 ../ Sewliic & mb Te sl ol i md e
with formula,

A cyclist completes 5 -ET-irr:lﬂ’.?_,;.,}fJI _;;__:x";%ﬂ'..-.:-ﬂ 1.5 &b el .-f,{,-aﬂ._,ﬂ')_‘, £ 318 _—Irﬂ [
hailf round of a circular track of radius 318 min 1.5 minutes. Find its speed.

Define Equilibrium. 4 el AR L AT AE
Also explain its 1st condition of quilibrium.

Calculate the pawer of 5 rkudor o Pgfddd 6m L2 10s SUL200kg gl
& pump which can lift 200 kg of waler through a height of 6 min 10 seconds.

State and explain Archimedes Principle. 4 _L_,j,rr:.-.} BTN u)L.u_J.v"fEL::._}.:
Normal temperature of human body 5 S bt TN . 98.6FC ,&ﬂth’fﬁﬁ'
is 98.6FY. Convert it into Celsius Scale and Kelvin Scale,

_éfalﬂ.ﬂﬁaaﬂlﬂ,tc&( -

()5

()

(ih)oe

(o)

()7
i)

17-2017(A)-53000 (MULTAN)
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PAPER CODE 2017 (A) Go‘? A
NUMBER: 1475 SSC PARTl (9th CLASS)

PHYSICS (NEW SCHEME) GROUP- (20152017 () e o) (& 2)
TIME ALLOWED: 15 Minutes OBJECTIVE (%2 w15 = =
MAXIMUM MARKS: 12 12= A

S AL J:Lf:..ﬂ!;J:':'.'.:iul-“ih_.-'f_*a-*ﬂ;.g':;'!ﬁf}ié-:i'ﬁiLJ'fﬁ{LEKL}li -.'_,_'?':{-E__J D.C.B:A ..:'.JI.S_IFY;-E-'L#;—.',I'J’A ¥
W -fi.l;r&);,l?jﬁ:‘:éfg,ﬂ.:u:ﬂ,ri;xii Bubbies -{ﬁjrjﬁflﬂu}&@&JﬂJL& PR 1 L LJZJ:_,JJ:-’:»':J:_'.-,{' i)

Mote: You have four choices for each objective type question as A, B, Cand 0. P L :-';.Lﬂl.r,;,.g 2-dv

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type guestion paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The value of € becomes at a height equal to -.1;[:51?5;.'-.‘3: - 26 peeERL AL ;ﬂj:.gguij (1)
one radius of the earth more above the Earth surface becomes:-
) 28 B) Lg ©) 38 D) 1g
b 45 3 4
(2) Hammer raised up has energy:- =" &xﬁﬁu&.ﬁﬁf-‘.’éﬂ: (2)
() PE GASH  (B) KE Gy (C) Sound Energy %l (D) Heat Energy Uiiewr
(3) The unit of Density in System Internaticnal is:- -2l J’L-ju: J%}-'hﬂ"" (3)
(A) kgm B) kgm™ (C) kgm™ (D) kg m™
(4) __isa natural thermometer. _,:__;-:.‘,«;3 Al (4)

-
i

(A) Crocus flower J#£6:0# (B) Rose flower JEE_E (C) Sun flower (#6.8 Tur (D) Lily flower ._,bﬁ’u"j

(5) Ingases, heatis mainly transferred by:- ﬁf_.,ﬂri’wﬁjla?l}p,uyhﬁ J'i'! (5}
(A) Molecular Gallision %% (B) Conduction % (C) Convection ™" (D) Radiation *iifk

(6) Global warming is dus to a gas:- ,{_Jiﬁh.&,.ﬂr (bt (@)
(A) Oxygen o™ i (B) Carbon dioxide 44/ Tikct€ (C) Carbon monoxide ¥4 Tiveiss (D) Chloring ¢f 4

(7) One Femto is equal to:- btz (Femto) #0i  (7)
(A) 107 {(B) 10" (CY 107 (D) 10"

(8) The number of basic units in S| is:- e AGBE S (8)
(A) 3 {B) 5 (C) 7 D) 8

(9] The speed of tiger is:- wieklz @
(A) T0mh (B) 700mh™ (C) 7000 mh™ (D) 70000 mk™

(10) The unit of Momenturn Is:- R (1)
(&) Nm (B) kgms™ (C) NS (D) Ns™

(11) The number of perpendicular components of a force is:- eSSl ST )
(A) 1 (B) 2 8 (D) 4

(12) The Mass of Earth is:- —e ke (12)
(A) 6=10"¢g (B) 6x10%¢g C) 6x10"g (D) 6x10¥g

17(0bj)(%E 37 7 1-2017(A)-53000  (MULTAN)



PHYSICS (NEW SCHEME) GROUP-II
T

TIME ALLOWED: 1.45 Hours

2017 (A)

(ﬂ"—’bf /

SSC PART-l (9th CLASS)

MAXIMUM MARKS: 48

( 2015-2017 %)

SUBJECTIVE S¥L»

& 145 =

48

NOTE: - Write same guestion number --g_.EwJu:%_{‘J!ffﬁé’ E-;uﬁ%?a:l,ﬂUWJ{Lifdiﬂ

and its part number on answer book, as given in the question paper.

2. Attempt any five paris.

(i}
(i}
{iii)
(iv)
(V)
(vi)
(il
{viii)

3. Attempt any five parts.

i

(i)
(i)
(iv)
v)
(vi}
)

(viil)

4. Attempt any five parts.

(i)
{ii)
{iii)
()
(V)
(vi)
(vil)

(vili)

SECTION- sl

1M=2Zx5
Define Physics.

What is meant by Vemier Constant?

What is meant by significant figures of 8 Measurement?

Define Bandom Mation and write an example.

Define Uniform Velocity

Differentiate between Rest and Motion,

Define Force.

State the Law of Conservation of Momentum,

10=2x5
What is the difference between Like Parallel Forces and
Unlike Farslle! Forces?

Differantiste between Torque and Couple.

What is meant by Resolution of Forcas?

What is meant by Gravitational Field Strength?

On what factors does the orbital speed of a satellite depend?
Why does the value of "g" vary from place to place?

Write the names of important parts of Solar House Healing System.

Define Kinetic Energy.

10=2x5
Define Young's Modulus.

\What is meant by Stress? Write its unit.

State Pascal's Law.

A
Lr"”-ur!; (ﬁﬁﬁ) .

i

AF

-ty

g fen ke 3 2 8y

-E A

Sty b= LA i

Sl vt Sl
& 4!0:,1 [ g.f"‘.-’ug',;'urj ¥ ['jr'., 4
-y AN
~EIAL P
_E e A

B RINBrL ) (u_/ s

]
(i)
(i)
(v}
(v)
)

{wil)

{viii}

& e lizbie$f 340y

!_'+_ lj;j ffuﬂ;ﬁ}uu'ﬁqfﬂuml:a}pﬂﬁ.fﬂ

&G JAR l_.l;f b
?IL-JL:’E-’C.-/'#J}_;TJ!JIEJ

e S

e e { J'fw':ﬁx’;ftuﬁuf&’ Wy
S oo U S g
LU L i

-y i<y

(i}

(ii)
(i)
{iv)
(v)
(vi)
(wii}

{vili)

EfezlnbiedS 4y

& #
A P
R e A

LA TR

Change 300 K on Kelvin Scale into Celsius Scale of temperature. ISR AT 300 K g

Define Specific Heat and write its Sl unit.

What is meant by Convection?

Define Thermal Conductivity and write its S! unit.
What is meant by Land and Sea Breezes?

SECTION-II f

NOTE: - Attempt any two questions.

5.(A)

(B}

B.(A)

(B)

TA8)

(B}

How can you relate a force with the change of Momentum? 4

o S iy S A
T.g.:lflﬁ.:.dicf

oy St S AW
S A SAE o S

(i
{ii}
(i)
{iv)
(v}
{wi)
{wil)
(il

_é{;.:.,i‘lﬁﬂm lllﬂ::_..é:( cdid

S e b SR IN I AS ST ()5

5 L 2l SPoteS Rk 20 gt o BunfecFibpiyd 2 ms? el inE e BRiHF B0 (L)

Hew much time will it take to attain a speed of 20 Kmh™'?

What is Equilibrium? F
Explain Second condition for Equilibrium.

Sl S ALl SONE 2 20 em Sl e Feps 18 45 L IAC 10 kg S ()

A girl carries a 10 kg bag upstairs to a height of 18 steps, Each step

A train slows down from B0 kmh~! with & uniform retardaticn of 2ma‘2

5 {g=10msZ &)

s 20 ¢m high. Calculate the amount of work she has done to carry the bag, (Take g = 10ms=)

Explain Hydraulic Press. On what principle does it work? 4

Lo AT EASE S e dAsE (D8

'-'.;.r;’f-f{ufl._r; el gty (DT

5 s 336000 JKg™! = AT L B0 Lafe L Arain)z 50000 ()
How much ice will melt by 50000 J of heat, when Latent heat of fusion cf ice is 336000 Jkg 17

AQ_ N TIAVAREAN  IRETT TARNY
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PAPER CODE s

2017 (A)
SSC PART-l (9th CLASS)

NUMBER: 1472
PHYSICS (NEW SCHEME) GROUP-II

( 2015-2017 &)
OBJECTIVE (%/.e

[,‘u-...'-:f ((—ﬂﬁ) U{r’

L 15 = oy

122 AF
S B | DAL rese AL g s L yd¥die - 2L E D 2 C B A ST 7% oy e
A Kb AL Lf Bubbles Mriib iz lenmSi G Sok | &S e £ 25

Note: You have four choices for each objective type questionas A, B, Cand D, _4):;1,?‘)}_-41::-;,;;4:;—

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

TIME ALLOWED: 15 Minutes

MAXIMUM MARKS: 12

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many guestions as given In objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are notfilled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1

1 Ay

(1) The number of significant figures in 100.8 s Is:- _,T_,g,;¢f#;¢fr I~ 100.8s (1)
(A} 2 B 3 (C) 4 D) 5

(2) The smallest quantity is:- -.-;_xlﬁ'dsi;’c.-,f (2)
(A 0.01g (B) 2mg (C) 100 U.g (D) 5000 ng

(3) Falcon can fiy at a speed of:- --g-f:ﬁfc—-iﬂ; S (3)
(A) 200 mh™] (B} 2000 mh~1 (C) 20000 mh"! (D} 200000 mh™!

(4) Inertia depends upon:- e AP 4

(A) Force uf (B) Net force _rides

(8] In aright angled triangle length of base is

{C) Mass /i (D) Velogity (s
SndidSoin 3em SUgbd 4 om SUGssl st aramm 0 (5)
4 cm and length of parpencicular is 3 em, then the length of hypotenuse is:-
(A} Bem (B} 25¢cm (C) 50¢cm 0y 75cm
(8) The value of "g" at moon's surface is ,fﬂg.btfa"?._;l.i 100 kg ¢£F - 1.8 mse =d L,"-" ki _;59(;& (&)

186ms™? . The mass of 100 ka body on the surface of moon will be:-

(A 100N (By 1680 N
(7] The altitude of Geostationary Oriils in which

(C) 1000 N 0y 1600 N
e dre il I fow B el )
communication sateliite are launched above the surface of the Earth is:-
(A) 850 Km (B} 1000 Km (C) 6400 Km
[B) The rate of doing work is called:-
(B) Torque ¢

(D) 42,300 Km
BETLASL I (8)
(D) Momentum ﬁ}'

(A) Energy (LA (C) Power s\

(9) In ___ state of matter, Molecules do not leave their positian. e &5 ,ﬁﬁ}ﬁﬁiﬂﬁﬁ&h el (8)
(A) Salid ¥ (B) Liquid &\ (C) Gas 2 (D} Plasma LJi

{10) Normal temperature of human body is:- -ilh}/;jb"'r’? e (10)
(A) 159¢ (B) 37%C {C) 37°F (D) 98.8°C

(11) False ceiling is done to:-
(A) Lower the height of ceiling &/ fag
(C) Coal the room ¢/ 4

_{_FME"E‘LE;—f&!JUP“ (11}
(B) Keep the roof clean [ iy
(D) Insulate the celling /ooy

(12) is a good radiator of Heat, e S aE S (12)

(A) A shining silvered surface f._f i1l 1
(C) A dull black surface {rb- i L]

(B} A white surface fg._fl
(D) A green colourad surface fgf.ﬁﬁ,p

19(00))(¥X)-2017(A) 48500  (MULTAN)
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2017 (A) Cf// i

SSC PART- (8th CLASS)

PHYSICS (OLD SCHEME) GROUP-I  (2012-2014 ) g CAF ) S
T

TIME ALLOWED: 2.45 Hours SUBJECTIVE , L2 045 = =

MAXIMUM MARKS: 63 53 = AF

NOTE: - Write same question number  —c Btz £ IvSReE Lus bz 2 )viSs K2
%- %_T { -

and its part number on answer book, as given in the guestion paper,
SECTION-l Jso

2. Attempt any five parts. 10=2x5 9y ) I.EL".I:?I&;;;.J: _240
()  Define Least Count of Vernier Callipers oA e K, (i)
(i) What is meant by Signifizant Figures? Y sl Aa Ursr Al {iiy
(i)  Differentiate between Distance and Displacement. -g;-l' cf: A Y e {ii)
(iv) A train is moving with the speed of 36kmh™!. AL RE msT el e S e e Ltk Al (i)

Convert it into ms™!,
(vi  Differentiate between Circular Mation and Visratary Mation. e i AR ,,.-_fu,.,n:};,f; (v)
(vi)  What is meant by Coefficient of Friction? -ﬁgﬁfﬁuiﬁ e irlfe \;,rf'f}._iT...,ﬁ,El_I { Evid
Whrite its mathematical form.
(vil}  Why is it dangerous to travel on the roof of the bus? e SEEUL el viD)
{vii)  Write two advantages of Friction -r;_";.ru’-‘;’u.i ._f ; {wiii}
3. Attempt any six parts. 12=2x6 .é-gf.:.al,lj:ﬁlmf;.&f -3/1;1,]!:-'
(i Differentiate betwean Torque and Couple. -«,i.{ GkdAE u‘;':rr_.lfb (i)
(i)  Define Centre of Mass. WAAAASTE W)
(i)  Whatis Head to Teil Rula? S WU FiLe i)
(iv)  What is meant by Gravitational Field Strength? Explain, A T;-I*_Jlﬂfr__.;JLh,';ti:‘J’#dg; {iv)
(v)  What are Artificial Satellites? AL PET
(vi)  Define Watt. s f..,ar,fc’_-,u (i)
(v} Differentiate between Mechanical Energy and Chemical Enargy. Yy f At d Ak ,ud;h {vif)
(viii) ~ Define Couple and give exampie, _.:iJJ&Jqléé.;gﬁJf (wiii)
() Define Nuclear Enargy. LA (i
4. Attempt any five parts. 10=2x5 _Eé}f#yﬁ:ﬁ!méu—_é)’ J/.*Uir
(i Define Principle of Floatation, é.ﬂ f‘.,;-,:-l.._.:. s (i)
(il What is meant by Elasticity? '.‘,?-_..!;I._I.r_ ,_;’Jf, i {iih
(i} What is meant by Latent Heat of Fusion? ?.L.'l,.-'l:;"‘;..:urfﬁfﬂlds (i

(v} Whatis the difference between Specific Heat Capacity and Heat Capacity? e J}I,.‘J’;,r:.jj:..-‘*'u;-ul,,. =7 (iv)

—

(v)  What is meant by the Evaporation? el gy ()
(viy  Write two applications of Thermal Expansion o ::L'f.j e la2 5 o .:Lalf {wi)
(vil) ~ Write down the uses of Conductors and Nonconductors. e i SR il
{viili)  What is meant by Convestion? e lrie el L)

(&1 Jis)



SECTION-II fne E.3
NOTE: - Attempt any three questions. Grfeel el o
5.{A] Derive vy= v, + al with the help of speed-time graph 4 ve= v+ at ,ﬁjs::..-.u’.iu’ffu,,g (g
(B] Write the following quantities in standard form - 3 -rﬂur:lﬂﬁhi‘-.ﬁ:,nsﬂjﬂ,tia-ﬂ ()
(i) 6400 Km (il) 0.00058 g (i) 1168 x 10727
8.(A} Define Centripetal Force and derive its expression 4 _g‘.'": Jél.v.-':'.--JJwg{ - ﬁ._,ﬁ,o:"ﬁ'-‘;_:{ﬁr ().
(B} Find the magnitude and 3 <5 N _-a-'.-;r =¥ 12N M!;:I - X E’J‘T%umwlﬁgﬁ?}_ﬂ o)
direction of a foree if ite X - Component is 12 N and Y - Comparient is 5 N.
7.0A)  Derve the formula o determine the Mass of Earth, 4 il +.J:2!ur.-ﬁi’.LJ;'1h’u“kprJ (7
3 g=10ms? G g PR e VL 3m A0S e ¥ 50 ()
®) A body of mass 50 kg is raised to a height of 3 m. Find its Potential Energy when the value of g = 10ms™2
B(A) Whatis Hydraulic Press? 4 A ML S felfmpdinil (Lih).8
Describe its construction and working
3 LIS e 500 WAL 200em® O (L)
() The mass of 200 cm? of storie is 500 g. Find its density
9.{A) Whatmeasuras would you suggest to 4 E'Z-._,-_'.r"’,'-_*f-c.l-'J-’*'r‘_;;,]li:.ﬂif_i.uﬁ..;lq_ful ;TT (3i).0
conserve energy in housas?
(B} Changs 300 K on Kelvir Scale into Celsius Scale 3 -gﬁﬁfhfukﬂuf# r;f-,;‘r 30K ,;J:'::u,sﬂfr fo)

of temperature,

SECTION-IIl v

10. NOTE: - Attemptany two parts. ~ 5+5 g Aelizliime Y (oJB)) _10

(A) What s Zero Error of the Vernier Callipers? Describe its types. _L,‘J:.-‘l:_',IE{rL-j‘pfvﬂ Y b il o
(B) Find the value of 'g if haight 'k’ IR 16,4 WA AL 1040 7 813 R S AG e 3 0 g

of fres fall is 81 .3 cm and time for 10 vibrations is 16.4 sec.

(C) An object has weignt in air 16 N LA EREN ek 12.4 IO e 18 Wik

and its weight in water is 12.4N. Calculate ts dansity.

17-2017(A)- (MULTAN)
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2017 (A) 8 P
SSC PART- (9th CLASS)
PHYS|CS (OLD SCHEME) GROUP-I (20122014 ™) |-/ (& 21) U5
TIME ALLOWED: 2.45 Hours SUBJECTIVE J¥Le 245 =
| AF
NOTE: - Write same question number ...;_e,;@.;_.;..;ff.&é @Jﬁ%i‘ﬂ??dlﬂm{qsi}m .y
and its part number on answer book, as given in the question paper.
SECTION- JiLe

MAXIMUM MARKS: 83 83

2. Attempt any five parts. 10=2x5 .,E;fa,;mémégaéf -z,-{_,lv
(i ~ Wnatis meant by Zero Error of a Measuring Instrument? Sy R o 3 JTE _L;,L, (i
(i}  Define Pitch of a Screw Gauge. EGASESELS G
(i)  Differentiate between Positive Acceleration and Deceleration. & IALFM Ljicﬁ)"gli::{ (i)
(v)  What is meant by Graph between two Quantities? ?.;__ryy’c,._ii,ifﬂymf_'u_urﬁm (iv)

(v)  Canabody moving at a Constant Speed have Acceleration? te (et nl Solre oV )

(vi)  Define Force, NS I Y
(vi)  Define Centrifugal Ferce, Al i
{viilllj Write two advantages of Friction, . .;."J:_.Iii;:éur*"_j {viil)
3. Attempt any six parts. 12=2x6 .g,é};’..-.uz.ﬁvzug;[}f -3/,{]!‘:-‘
(i  Explain First Conditicn of Equilibrium. " u;.:-ujuﬂfdmiufr:ﬁ; | (i)
(i What is the difference between Cenfre of Mass and Centre of Gravity? J /"...r If".uJ;,J'L..:fo" (i)
(i)  What is meant by Moment Arm? fe ol plase (i)
(v}  Why the value of 'g’ varies with altitude? Explain. Aol T.T_Ji_:ﬁJ_iu.dg L Sk d ‘g’ (i)
{(v)  Describe the Navigation System. ~Eukr AP )
{(vi) A machine does 4 Joule of work in 2 seconds. EAT N -%Mu’dﬁ 4202 U W)
Find its power.
{viii Define Potential Energy and write its equation also. By Sy eSS (i

(viii)  If the velocity of the body bacomes double than how much will be T;‘irf:i}l_@ﬂm'm;a_tf,nuﬁ@,.L,f(-’u'( {viii)
its Kinetic Energy?

{(x)  When does a Force work? Explain it. cf Sl Td,-_é,? ALY 2 ()
4. Attempt any five parts. 10=2x5 .&.}fawﬂmﬂ;gjf A
()  Define Elasticity. S J;{_{Li'”f?,g (i)
(i)  Define Density and write its formula. = ﬂunﬁh’@@{ SASEE
{iiy  Define Specific Heat Capacity and write ils formula. -J%r‘;ﬂh’;ﬂ;ﬂg{ i ,«".L,.r "fLi!J,i;Jr"” fiii}
(v  Define Coefficient of Linear Thermal Expansion, -é?—:—"‘/' el 'frcr.:}l”ux!.?u.rl' {iv)
(v)  What is meant by Bimetaliic Strip?  Write its use. A e e adion (W)
(vij  Define Latent Heat of Viaporization. Ao fi Rk )
(vii) Write two uses of Canductors. _AL el 20 (i)
(viil) Wirite four faces of Lasile Cube. ~e{£ﬁu‘f“;k dodfdd (i)

(£13s)
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1 /a it l'| 1
\\ " SECTION-II (282
NOTE: - Attempt any three stfons _£ j:fLIEL:;LIJrJ;.df i
5.(A) How Galileo proved that the e Posliod ';_,:‘:Hl.r_rpl__ﬁ._x,.mu..r’u’_nd‘.Hn'.;i (8.5

acceleration of free fallng bodies is the sama?

(B) Find the number of significant figures and 3 _fﬂu*"-:ﬁ.ﬁmwf [-}":mgurﬁrf b e
write its scientific notation, (i) 0.00580 Km {iiy 210.0 gram
3.14) Define Centripstal Force and denved its equation. 4 ,gfﬁlahﬂﬁﬁqﬁl_}b&}‘- im0
(Bl A block of weight 10N i3 3 géf!”u’gu’fu"'w” e B AL (S50 s TON ok A ()
hanging through a cord. Find the tension in the cord. —
T4

7.(A] Calculate the Mass of the Earth with the help of 4 AL R eIl S (LT

Law of Gravitatton.

(B] Calculate the power of 3 ~Frulleos e g Al em 210 S| 200Kg wivh (o)
a pump which can lift 200 Kg of a water through a helght of 8 min 10 5.

8.(A) Stzte and explain Hooke's Law. 4 ,g,i-_-.ra.l«s,;l_@ _,;J.;-,Iiﬁ'.;h:;’ () 8
3 AR e g 20N G a1 e 10 mm 2L fiSA e UG (L)

(B} The head cf a pin is a square type of side 10 mm. Find the oressure on it due to & force o7 20 N,

9.(A) What is meant by Thermal Conductivity? 4 ﬁ’;;d-;fh,JffiJ SRS B °.7_,e,-L_,L-J;x?fiJLJ;ﬁ (alD_g

How can we find the Tharmal Conductivity of a Salid Material?

Set MW iut dan 2 el in B2 ol 409C (b st 1.2 m3 g 185G e AT (L)

(B} 4 balloon contains 1.2 m3 air at 15°C, Find its volume at 409C, 3 —e 367 x 1031
Thermel Coefficient of volume expansion of air is 3.67 x 10 3k
SECTION-IlI e
e 3 L B
10. NOTE: - Attempt any two parts. 545  _Zsfelizne & (o)) 10
(A) (i) What is meant by the pitch of a screw gauge? 2 fe_s [,spj;_jd'cfj; (i) ()
(i) What tyoes of scales of a 3 qéfjﬂ!‘?l}l‘{n—rlfﬁf“]\ﬁg Js':;‘.’“ru _,‘druﬂﬂ,m 3*‘:" (ii)

screw gauge has? \Write the names of the formula to find its least count
5 e 832 wht i 91,38 inlin St -ErihlE Falie wlnAie (W)
(B} Find the density of salid body by using principle of Archimedes. If weight of body in zir is 91 380 and
weight in water is 83.2g,

(€} Write down five properties of Thermometric Material. 8 ey Fm Lo ék.,jf.H ) ﬁ‘ﬁf (&)

19-2017{A)- (MULTAN)
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PAPER CODE 2017 (A) = A

NUMBER: 5475 SSC PART- (Sth CLASS)

PHYSICS (OLD SCHEME) GROUP-l  (2012-2014 ™)  ug.ouf (A€ 1) /%
TIME ALLOWED: 15 Minutes OBJECTIVE (55*# s 15 = =
MAXIMUM MARKS: 12 12= A4S

Ae of | A3 AL e SO Esi L Y rgd637 B LEsD 15 C B A eyl
U1 Ko S Sof Bubbles Gl et L §SL G Sek | L S e i 25
Mote: You have four choices for each objective type question as A, B, C and D, _;{;C;w):qalﬂr{,ﬁ,glr
The cheice which you think is correct, flll that circle in front of that question number, Uss marker or pen
to fill the circles. Cutting or filling two or more circles will resuit in zero mark In that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve guestion on this sheet of OBJECTIVE PAPER.

Q.No.1 1 A
(1) A force of 10 N is making an angle -ffd—#:;‘if-:ffmﬁ_ﬂ u.;th;JJh’ 30° p’l..q'_’.',fgl K wdbuie 10 (1)

of 30° with horizontal. Its horizontal component will be:-

(A) 4N (B) 5N {C) TN (D) 87N

(2) Value of 'g' increases with:- —e il fedf g (2)
(A) Increase in mass of body < & ¥ JLEF (B) Increase in alfitude < & %k
(C) Decrease in altitude c.i.:.-r{u& (D) None of these 2= L2

{3) The work dane will be zero whan the angle between the forcs and BE P TP o R e 7 {3)

the distance is:-

(A) 45° (B) 60° (C)90° (D) 180%

(4) The 3l unit of Pressure is Pascal, which Is equal to:- _:i:_.f!{.r}?{_'::ﬂ.,_,pl;_:a‘gk:}:.',;g,r_' sl {4}
(&) 104Nm™2 (B) 1 Nm™2 (C) 10°Nm™2 (D) 10°3Nm2

{5) Normal temperature of human body is:- -q_tﬂ_-,,alf__—w._,bft#’(ﬂui (5)
(A) 15°C (B) 37°C (C) 37°F (D) 98.6°C

(€) In gases, heat s malnly transferred by:- — Bl S ;--1"' (6)
{A) Molecular Collision L7 {B) Conduction L;,-:‘ Cor (S} Convaction uf{»'f {0} Radiation w:'J'!LEEJ

(7) The number of Base Units in S| is:- —e WIS S (7)
(A) 3 (B) & (C) 7 (D) 8

(8) s a vestor quantity, e A L (8)
(A) Speed ir (B) Distance s (C} Displacement L (D) Power b

(9) A ballis thrown vertically upward. Its velocity at the highest rFdgreg s e Weg it ()

pointis-  (A)-10ms”!  (B)Zaro (C) 10ms™"! (D) None of these Jo50/e 2o

(10) Newton's First Law of Mction is valid only in the absence of- +:ﬂJL&IfuJG.{_1£wﬂéddiﬁf/§br __ {10)
(A) Foree o/ (B) Netforce  de  (C) Friction o) (D) Momentum #%+

{(11) 1 N is equal to:- -l TN {11)
(A)1 Kg ms? (B) 1 Kg ms (€)1 Kgm's2 (©) 1 Kg'ls Im™

(12} The number of vectors that can be added by head to tail rule is:- -rf_CCL;E'Efc;L;J;u"fﬂ-:Lﬁ-ﬁLﬁ My (12)
(&) 2 (B) 3 (C) 4 (D) Any number Tl

17(0bj)| TR )-2017(A)- (MULTAN)
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|PAPER CODE 2017 (A) A
NUMBER: 5476 SSC PART-l (9th CLASS)

PHYSIC‘S (OLD SCHEME) GROUP-Il  (2012-2014 %) |- .,..J (’,g M) S
TIME ALLOWED: 15 Minutes OBJECTIVE u”sf,.n? 215 = 5y
MAXIMUM MARKS: 12 2= AF

e eF L -J:'L"':}'J:H’JWL-;—-Wﬂ-’:muﬂU:f’a&ié-ﬁLLJWA{drdﬂ -p_"!éé.-.r D.dCuBaA whlfﬁﬁnkﬁd‘rﬁ i
V! Ko A3 AL oL Bubbles b radb bemSLTL Sk | LS pspntie i
Note: You have four choices for each objective type question as A, B, C and D. -;{fﬂ/{qmﬂlr{.;;,}tr‘
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
te fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questicns as glven \n objective type question paper and leave others blank. No credit will be awarded
In case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) A force of 10 N makes a1 angle of 30° -E"f._-.-:-‘r;f-j;lis’-,t- W e Qi alid 300 .Jbi;ygl -X LA fifend 10 {1}
with the honzontal its herizontal component will be:-

(A) 4N (B} 5N (C} TN D) 87N

(2) The value of 'g" ata helght one Earth's radius above _gﬂxrﬁﬁédswihééxipﬂa. wiladS g (2)

the surface of the Earth is:-

(A)2 g (B) 112 g (C}13 g (D) 14 g

(3) If the velocity of a body becomes couble then its Kinetic Energy will: - -d’xd.jl..@db’gju'l??_',—nﬁj" :J(?,-_ﬁ" fﬁ (3
(A) Remains the same .T__J‘Dij: (B) Becomes double q..j:;:r:ﬂ
(Z) Becomes four times -‘-.I.'—J'if':-'i.'f:'_"f {D) Becomes half ._;l:‘:ifu,_iir

(4) Molecules do not leave their position in state LGRS B (@)
(A) Solid (B) Liguid 1 (C) Gas Y (D} Plasma |4

(8} Mercury is used as thermametric material because it has:- .8 '.'-'*f;_,..'l';;'f%Hgl._fr;b-'ﬁ".'.;.ubi_fﬁg}fr/“fﬁj} (5)
(A) Uniform thermal expansion fiks .EJI,’V'L—E' (B} Low fre2zing point .:.'f’-'{.f;;}r‘r
{C) Less heat capacity ;_:': '::%"Jxlff (D} All these oroperties .:.thnr*":’r‘L?:.

(6) In gases, heatis main'y transferred by - e BB Al J e g (8)
(&) Malecular Cellision 1.7, ;QL (B) Conduction o £'e (C) Convection .,;,"l'c-:-'f (C) Radiation o®I$4

(7) A Measuring Cylinder is used to measure - d.T_rlfri:'f'F;_;i;rf & (M)
(A) Mass '\ (B) Area L/ (C) Volume (21 (D} Level of liquid ¥ g

(8) A train is moving at a speed of 36 kmh™! dnte e ms! ce e e d s kmb AT (@)

its speed expressed in ms™! wil be:-
(A) 10 ms™! (B) 20 ms™! (C) 25 ms™ (D) 30 ms!
Kodelins S B unE S e s 25 me! Ll 2R 20 e B S Skl (@)

{9} A carstarts moving from rest. |t accuires a speed of 25 me"! after 20 5. The distance covered by the car

during this ime will be.-  (A)3125m (B) 250 m (C) 500 m (D) 5000 m
{10} Ineriia depends upon:- L S J-Laﬁ%“l;ﬁjl (19}
(A) Force U7 (B} Netforce is  (C)Mass L (D) Velocity (s
(11) A by Jumps out of a moving bus. there is a danger for -._;aﬁ'{r"_.f-'.ijl i rﬁ’i..ﬁ:;.;._ﬂgﬁj:rﬁvb’}'..ﬁ {11}
nimtofall-  {A) Towards the moving bus A5 unds  (B) Away from the bus e
(C) In the direction of motlan Lerfe'” (D) Opposite to the direclion of motion 2 .:;-'_1!5’;51-.-".'-*
{12) The number of perpendicular components of a forca is.- . L::ﬂju"ﬁj;&;,,:‘:}f,f (12)
(A 1 {B) 2 {C) 3 o) 4

18(0bj) ﬁ‘iﬁ'ﬁ')-zmnm- (MULTAN)
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